Homework 1 Solutions: 

3)  Formal languages cannot be ambiguous. This affects the range of variety in syntax (permitted orderings of words and symbols and lexicon (forms available as legal terms). 

4)  
Edit: writing the program


Interpret: the program is translated to machine code


Run: the statements are executed

Lab 1

Solution to the f2c and the c2f 


[image: image1]
>>> f =32


>>> c = (5.0/9) * (f-32)


>>> print c


0.0


>>> f=212


>>> c = (5.0/9) * (f-32)


>>> print c


100.0


>>> f = (9/5.0)*c + 32


>>> print f


212.0


>>> c = 37


>>> f = (9/5)*c + 32


>>> print f


69


>>> f = (9/5.0)*c + 32


>>> print f


98.6


>>>











Why do you need to have the f=32 before the c equation? 





Why do you need to write the whole c equation again? 





Hey! What value of c is this equation using to get f? 





That doesn’t seem right (37 C is body temperature) – what’s wrong? 





Ahhh, that’s more like it! 








